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QUESTION 1

A once active entitlement has been changed to inactive, what are the implications of this change?

A. Users in the now inactive entitlement can no longer perform actions on their machines.

B. Machines previously deployed under the now inactive entitlement are shut down.

C. Machines previously deployed under the now inactive entitlement are powered off.

D. Users in the now inactive entitlement can no longer perform snapshot operations on their machines.

Correct Answer: A

QUESTION 2

Why would you add a text element to a service blueprint?

A. To allow users to enter custom properties.

B. To allow users to enter free-form text as a description for the service they are deploying.
C. To add descriptive text to the form.

D. To add versioning capabilities to the service blueprint.

Correct Answer: C

QUESTION 3

An laaS Administrator needs to create vCloud Director Endpoints. The Administrator creates one Endpoint to
Organization A but cannot collect on Organization B.

What could be the issue?

A. Organization B needs to be enabled on the vCloud Director Endpoint

B. Organization B needs to be prepared on the vCloud Direcetor Endpoint

C. A second vCloud Director Endpoint needs to be created to see Organization B
D. A second organization user needs to be added to the vCloud Director Endpoint

Correct Answer: C

QUESTION 4

An administrator is deploying vSphere 5.5. The administrator creates a vSphere Distributed Switch, then uses Auto
Deploy to deploy several ESXi hosts. After the hosts are deployed, the administrator notices that LACP packets are not
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being sent between them.

Which condition would cause this issue to occur?

A. The LACP support settings do not exist in the Host Profile.

B. The LACP installation bundle is not included in the Image Profile.
C. LACP is not enabled on vCenter.

D. LACP has not been configured on the Auto Deploy server.

Correct Answer: A

QUESTION 5

A customer needs to create a virtual machine that can be migrated across multiple vSphere clusters. The virtual
machine has an application that must detect the physical characteristics of the storage device.

Which type of virtual disk can be added to the virtual machine to meet these requirements?
A. A virtual disk on a VMFS datastore

B. A raw device mapped disk in virtual compatibility mode

C. A raw device mapped disk in physical compatibility mode

D. A virtual disk on an NFS datastore

Correct Answer: C
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